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evidence of considering determinant
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evidence of correct method (M1)
e.g at least 1 correct element (must be in a 2 = 2 matrix)

(-2-2¢ 0 )

AB = | r Al N2
|=6+pg 3+ ]
\ ey
METHOD 1
evidence of using AB =171 (M1)
2 correct equations AlAL
e.g.—z—zg:1and3—§:1__—ﬁ—mzu
_ _ 13 e
p=—4g=-2 AIAININI
METHOD 2
I .}"\I
ﬁnding.&i'l:; P _| Al
p+6l-3 1)
evidence of using 4 = B (M2)
2
E.g.;=land—i=g__i=—zand_i=q
p+6 p+6 ~ p+6 p+6
p=—4 g= —é A1AININI
. (140 —2-6)
Atftempt to multiply e.g | M1
? pves 0+0 0+9 ) D)
»l .-' - \I
.4*=|1 S| Al N2
0 9
_an _ ™
3X—|1 ‘|=| 3 4| (M1)
0o 3) 12 1)
—4 ﬁ“\
3X=| | (A1)
2 -2}
_ A
X=l| ¢ t]| Al N2
3l2 -2

[5]



